C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) §7+3= 2) 485+5=
1.
2.
3.
4.
3) 195+5= 4) 640+-8 =
5.
6.
7.
8.
5 72+3= 6) 540+6 =
9.
10.
7) 470+5 = 8 230+5=
9) 480+6 = 10) 228+4 =
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 87+3= 2) 485+5= 29
20 9 90 7 L
3 60 27 5 450 35 2 97
| 3 39
a 80
3) 195+5= 4) 640+8 = 24
30 9 70 10 >
5 150 45 6. 90
; 8 560 180
| . 94
8 46
5 72+3= 6) 540+6 = 80
20 4 80 10 o
3 60 12 57
= 6 480 60 ™
7) 470+5 = 8 230+5=
90 4 40 6
5 450 20 5 200 30
9 480:6= 10) 228+4 =
70 10 50 7
6 250 5 4 200 28
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